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I ’n mwn: bringing 0>m1 and 0’53 back into Nty for processing
a  if:a mathat required ©12°s was taken out of nT, it’s brought back and washed
i if: it became Rnv, it is torn (outside, to render it 1910 as a non-131) then brought in and washed
1 challenge (82237): once torn, it’s no longer a 11 — can’t fulfill ©¥223 Nn¥n
2 answer: retain a strip connecting the two parts
(a) challenge: that is considered a full 733, per n"’s ruling re: D>131 NRNV
(i) answer: that (P712°n2) NRMV is 132770, N"Nn it is MV and he may bring it back in
b if:avIn 1 was used for cooking nron and then taken out of Ny, it’s brought back and broken there
i if it became Rnv, they make a hole in it (rendering it a non-3 - 11nv), brought back and broken there
1 challenge: then it's no longer a ’93, can’t fulfill 2w nnxen
2 answer: they make a small hole, such that it is 1910 from previous nxrn, still functions = "53”
II "y mwn: if a metal *93 (e.g. bronze) is used for cooking a nxkvn and is taken out of Ny, it’s brought back and washed
a  if: it became Rnv, a piece is broken off (rendering it a non-'3 = Mnv), brought back in and washed in n71y
1 challenge: then it’s no longer a »93, can’t fulfill na VW NPV NN
2 answer: they destroy it and rebuild; it is 191V from old nrm, but a new %>
3 associated ruling (57): if the 313 Yyn requires V1’2 and becomes &’nv outside, they bring it in less than 3x3
(minimal 199w of D12 nkMW) and wash each segment at a time — per v. 1, prohibited to tear it
(a) challenge (72778 72 878 *9): very thick or thin garments do not fall under the rule of 3x3 (can’t be used for
anything unless bigger) , why require bringng them in in 3x3 segments?
(i) Answer: since this is part of the »yn, it has significance = o132 nkmv at the minimal amount
b General question about 771v3 012’ all V123 requires all 7 detergents, needed for both nxon o1 and wy»n mrIn (washing
clothes that had n»ma »pa)
i And:one of them is urine, which may not be brought into nvy (11250 »19n)
ii ~ Cannot answer: that he mixes them all together and the urine is nullified —
1 Because: the rule (in re: nnn2) is that they must be treated in sequence and separately
iii ~Cannot answer: that they mix the urine with one of the others
1 Because: each detergent must be washed over the on> 3 times
iv  Rather: he covers it in thick spittle
1 Per: 9"'s ruling that thick spittle is to be put with each of the 7 nnnvo
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